Mounting to the tractor 43

MOUNTING TO THE TRACTOR

A CAUTION

To avoid personal injury:

® Park the tractor on a firm, flat and level
surface, set the parking brake, stop the
engine and remove the key.

MOUNTING THE FRONT HANGER
BRACKETS TO THE TRACTOR

1. Attach the front hanger bracket assembly to the
tractor with M14 bolts, nuts and spring washers.
(See “TIGHTENING TORQUE CHART.”)

[RCK60-27B]]

G-5431

(1) 6-M14% 35 Bolt, spring washer, nut
(2) Front hanger bracket assembly

MOUNTING THE MID AND REAR HANGER
BRACKETS TO THE TRACTOR

1. Attach the mid hanger brackets to the tractor with
M12 stud bolts, plain washers, spring washers
and nuts.

ESAPAs (/4
LA /. 2L

Round end

G-5395

{1) 6-M12X40 stud bolt {round end outside)

IMPORTANT:
e Tightening torque

N-m kgf-m ft-lbs

Stud bolt 31 3.2 23




